/// A KATSUrA

NO. 102001 KM—105 {eEdh#

ERKH : Rk 2249 A 17T H

1. JEARHAR
w = 5kg,/h (C,Hy)
A B E B #FOH 0. 15~1. 56MP a
oo JE ) # P 30~120kPa
A = E73 ot POLAARY
Hi | 2 ot 9. 5mmA—3A0O
2. VEREHhRR
B
NO. 1 NO. 2 NO. 3
P1=0. 7 MPa P1=0. 7 MPa P1=0. 7 MPa
P2=0. 0 3MP a P2=0. 0 7TMP a P2=0. 1 2MP a
Q=5kg /h Q=5kg/h Q=5kg /h
140
120 ..\-'.'; ...............................................
m— NO.1---1.56MPa
100
= = NO.I'--0.4MPa
= e N(O.1--+0.15MPa
[alh
2 80 n - = NO.2:--1.56MPa
E o — = = = NO.2+-0.4MPa
O o60 f— - NO.2:--0.15MPa
H —--—NO.3---1.56MPa
“mek 000000000} | NO.3---0.4MPa
H ——NO.30.15MPa
20 | —
0
0 2 4 6 8
Hitkg/h)

naan TErA S {ERT




